@N\R:nbow ath:| Red A v
6x2-= 5x2= 2,4,6, 4+6=

12 + 2 = 45 + 5 = 3, 9 1512 + 3 =
2+2= 15+5= >5,10,___,20, 2+ 8=
2x7-= Ox5= 10,8, — 29+ =10
2X9-= 7 x5 = 10,___,30, P016=2+_
2Xx5= 5x1= 4,8,12, 7+1=

14 + 2 = 50+ 5 = 70,60,50, 2+1=
2x8= 20=5x |87, ’2) 5+ =10
20+ 2= 6x5= 1,3,5, 5+3-=
10x 2= 25 +5= 10,8, 2,__110-7 =
18+2= 40=8x ______ [40,45,50, 4+ =6
16 +2= 12x5= 14,16,18, 10-1-=




mR nbow mat RedB |*

11 x5 = 8x2= 5,10, ,20, 3+7=
bx5= 4+2= 10,8, 21+ =10
20+5= 1x2= 10,30, 50|12 + 8 =
15=5x___  |10x2= 4,8,12, _ +1=10
5+5= 2+1= 1,3,5, 6=4+_
12x5= 6x2-= 108,__,___2,__|10-7=
2X5= 2x9= 40,45,50, 5+3=

40 + 5 = 2x2-= 14,16,18, 2+ =10
10+ 5= 18+2= 2,4,6, 10=_+3
9x5= 2Xx5= 3, ,9 ,15(10-9 =
3X5= 6+2= 70,60,50, 4+ =10
35=7x____  (16+2= 8,7, ,5, 6-1-=




